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(1+2)* ~ 1+kr+ %k(k— 1)z?, (3.1)
cosx ~ 1— %xQ, (3.2)
sinz ~ x-— %xi)’, (3.3)
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f@) ~ fla)+ f(a)(w—a)+ 5 (a)(x—a) (3.11)
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e = cosf+isind (i=+v—1,i%=-1) (3.12)
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e = [cos A+ isin A] x [cos B +isin B]. (3.14)
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B — cos(A + B) +isin(A + B). (3.15)
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[cos A + isin A] X [cos B + isin B
= (cos A cos B — sin Asin B) + i(sin A cos B + sin B cos A)(3.16)
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cos(A+ B) = (cosAcosB —sin Asin B), (3.17)
sin(A+ B) = (sinAcosB + sin Bcos A). (3.18)
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()" = [cos(h) +isin(6)]". (3.19)
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cos20 = cos’f —sin4), (3.21)
sin20 = 2sinfcosé. (3.22)
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cos3 = cos’f — 3sin?fcosf = 4cos®d — 3cosh, (3.23)
sin30 = 3sinfcos®f — sin® 0 = 3sinf — 4sin’ 4. (3.24)
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